Solubility Written Response Key:

1.

3. A solution is prepared by mixing equal moles of Ba(NO,),, K,SO, and Ba$ and
precipitation occurs. Identify the precipitate(s) and write the net ionic equation(s)
for the reaction(s).

Solution:

For Example:
Precipitate: BaSO ,(s) < 1 mark
Net Ionic Equation: Ba**(ag) + SO, (ag) = BaSO,(s) ¢ 2 marks

3. Calculate the mass of solid AgNO, that can be added to 2.0L of a
G.10M K, CrO, solution in oxder to just start precipitation. (4 marks)

Solution:
For Example:

2_
AgCrOy) 2 2A8%,) + Cr0,

Ko = [A8+]2 [CrOf‘]: 1.1 107 « 1 mark

2 1.1x 107" 1 mark
[Ag*] = « I mar
0.10 _
[Ag]=33x 10M J
Mass of AgNO, = 3.3 x 1076090 . 5 g1 5 16992 « 1 mark
L I mol
=11x107g « 1 mark

(Deduct %mark for incorrect significant figures.)

(3 marks)
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